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1. Choose the correct option of the following :
- 1x8=8

finfRes s/l #s B AR e ¢

(i) What is the primary advantage of the
‘Brick and Click’ Model ?

R oI B WIS et RU R

(a) No need for physical space

(b) Offer flexibility to customers in
terms of shopping mode

Contd.



(@)

vl & '

(c) Completely online
Frjefantel SERe

(d) No digital presence needed
fofee THifEfer e iR

Which of the following is not typically

a step in strategic planning process ?

SRS R MRS (FHeers AR
olfFraia b1 ovCEel T2 ?

(@) Environmental scanning
oifde CER

(b) Formulation of strategy
R T

(c) Execution of employee

performance reviews
(d) Strategy implementation
(I AT
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(iii)

(1)

In the communication process, who is
responsible for decoding the message ?

@iz efere s Bree =69 wifg
FF Qoo ?

(a) Sender
(kS
(b) Medium
IR
(c) Receiver
- aReIe]
(d) Feedback channel
SRATIRIT (O

A self-confident leader whose
personality and action influence people
to behave in certain ways is called

o R @Ol A1 few uiw - RE
FoEE [WS SIbE¢ TRAcE Heiie FE (V8T
wee SRR (I dEeR ol JieT sidy el =2

(a) Participative leader
(b) Charismatic leader

e TR (ol

1 (Sem-1) BCM1/G 3 Contd.



(v)

(vy)

(c) Autocratic leader

GFoZa] (ol

(d) A Permissive leader

SAOHIEF (Tl

Which of the following is not within
the formal process of communication ?

RS N LN SRS afdTR fooae
DGR
(a) Encoding
FACF oI
(b) Interpreting
wief el
(¢) Decoding
ACFCO@lS
(d) Feedback
AP OIS

The plan to achieve overall
organisational goals is called

F2oIeR AT 75 TG I T4 ARHAT
fACRIS (IR @Il e 2
(a) Strategic plan

gl il
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(b) Tactical plan

eSS AR
(c) Operational plan
IR ARl
(d) Standing plan
S ARl
(vii) Motivation is a stimulation of mind
under the management function of
Flteel @ TR SR Bonst e
(I ARG TR TOoE 2
(a) Directing
Forae TR
(b) Organising
ARG B
(¢c) Controlling
e
(d) Co-ordinating
TR T
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(viii) Organisation where expert assistance

is provided to the line managers are

o5, WO @RS ARG T [Reaes

(o) Line organisation
s Raton

(b) Functional organisation
ferarers Ficalon

(c) ‘Line and staff’ organisation
@RE S T R0

(d) Project organisation

AFH I

2. Write short answers on the following : (any
six) «  2%x6=12
Fiare Raeriea esiTe 53 el Bl ¢ (R
BH5)

() Why do companies prefer for

franchising ?

AP (FeiEfEe By g FEe
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() Write briefly two techniques commonly

used in the decision making process.

Pl erzel eferars sTee g9 @iE 767 el
ALeweel fovait |

(i) Briefly state the relationship between
planning and controlling in
management.

ARPITAS ARTE S Nagem e Ak
RCFC <IN 41

(iv) List three essential trait of an effective
leader.

GG TP (Tol7 o5 woReR @H e
SifeRree 4 |

(v) Write the main features of Theory X.

©g X-q T4 @FETR e |

(vi) Mention the problem of dual®

accountability in matrix organisation.

5 wesioe Bfes (@Y RREeR T
Trzd 74|
7 | Contd.
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(vii)

List out at least two areas where

managerial control is considered

_ necessary-

: (viii) Creativity in decision

().

SRpIER o wa*n??tﬂ {i% ol FAATRE
751 Cwas Sud 0 u
making.

B gl @R | '

What is virtual organisation ?
oRfas oot 2

What is work from home ?

(x)
wq o R WA B
. 3 Answer any four of the ‘_f(_)llowing :5%4=20
e Rzt oifeba T ol &
() Explain the concept of strategic
planning.
S ﬁﬁﬁ?ﬁﬂﬁ NG =
(i) Define ‘bounded rationality’ and its role
in decision making.
S e e fa o Frae 7S
2R gl i 9
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(iii) What are the three core elements of
delegation of authority ? |

Aol AONANR fOiq5! o1 Soflme 2

(iv) Pisguss the factors that can affect an
individual’s motivation in the
workplace.

me@won@mcww--
IIT (VI R N 340 |

 (v) Explain the. steps in decision making

ﬁ’ﬁi@aﬁwmaﬁwﬁm
ARG <[] Wm

(vi) What 1s. the laissez-faire or free-reil;l |
leadership style ? In what type of teams

or setting would this leadershi '
| be most effective ? P sle

‘Laissez-faire’ (T9¥ &A1 T2 @H «ﬁa ‘n—vi
3 SRS R (9T Ol S IR 2]

(vii) Explain Matrix organisation structure.
‘Matrix TR0 offofCB! Tt =4

(viti) Why is informal organisation no less
important than formal organisation ?

Wﬂxﬁﬁwmﬂ\wm
agrd I @ = |
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4. Answer any two of the following :

)

10x2=20

Discuss in detail the difference between
micro, meso and macro environment
in business.

W’&’E cas”wquwﬁmémm

SN IR A T4

(i) Elaborate on the four pillars of corporate

social responsibility. (Economic, legal,

ethical and: philantrophic obligation)
ReiReelw i 3 | (S, Bz, s
W AR W)

(iii) Discuss the role of IT and social media
in communication .in business
organisation. |
TN FR9NGTS 2 2 oI AT M
@RI Crers R GRRA WIE GE OO
S 4 |
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(iv) What are the some potential failure

@
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‘balance in - today’s

reasons and success factors for
business, process re—engineering ?

IR 2AfEFA -SRI e ey YLor -
IR i TFeToi Boimia [ [ o

Evaluate the importance of work-life

corporate
environment. '

< TR AR TR ST
SFIL LU 9 |




